SAMPLE QUESTIONS

1.Fill in the blank with the most
appropriate option:
Raman for reaching home late.

A) took him to task
C) carried off his feet

B) die in harness
D) faced the music

2.The light bulb . Please change it.

A) broke in
C) dealt with

B) burnt out
D) carried on

3.Choose one word that would fit in both
the blanks

I. During the cyclone the of the tree
fell off.

Ii. The new bank has opened three __in
rural areas.

A) leaves B) branches

C) trunks D) offices

4.Find two words with the same sound but
different spelling for the given sentences.
| cannot ___ to see any animal suffering.
The giant pulled the roof off the house with
his __ hands.

A) bare, beer
C) bear, bare

B) bare, bear
D) bear, beer

5.Choose the most appropriate option.
Don’t my sunglasses if you
borrow them.

A) damage
C) wear

B) spoil
D) harm

6.1’m very to her problems.

A) kind

B) sympathetic
C) serious

D) patient
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7.1 adore the beautiful in the
Lake District.
You can get a good of the sea

from the church tower.
A) view, scenery B) scenery, sight
C) scenery, view D) site, sight

8.My two brothers are almost identical. They
are very difficult to

A) tell apart B) say apart

C speak apart D) fall apart

9.You'll get the if you talk to the boss
like that.

A) yellow card B) reward

C) sack D) bag

10.After an hour, he couldn't sit still any

longer and in his seat.
A) jumped B) fidgeted
C) stood up D) stretched

11.Choose the correct meaning of the
underlined idiom.
Don't worry - | was only pulling your leg.

A) teasing you

B) checking you

C) testing you

D) examining your leg

12.Choose the most appropriate response to
the sentence.

“The children have come down with
measles”.

A) “Lucky them!”

B) “Oh, dear! It’s such an unpleasant
disease”.

C) “Oh, great! They must be so delighted!”
D “I don’t believe you”.
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13.“Bob says he's going to run for Prime
Minister one day!”

A) “He is so ambitious!”

B) “Can he talk to him?”

C) “Oh, he is a lucky dog!”

D “I don’t think he can run fast”.

14.1t was very of Sophie to wait
until after Christmas before buying the
dress she liked. Prices were much lower
then.

A) judgemental B) shrewd
C) stubborn D vain
15.The flight was so long | five

films from beginning to end by the time we
landed.

A) have watched

B) have been watching
C) had watched

D watched

16.Have you tried it over
with your parents? Sometimes it’s good to
share a problem.

A) to talk B) talking

C) talked D with talking
17.1'd rather tennis than golf.
A) play B) to play

C) playing D not to play

18.The last test  was nowhere
the previous one.

A) harder

B) as hard as

C) near as hard as
D as harder as
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19.Choose the modal verb that CANNOT

be used in the sentence.

I have no idea why Dan isn’t in school. He
be travelling round the world

for all I know.

A) must

C) could

B) might
D may

20.Sue wouldn’t be in a hurry if she
late.

A) hasn’t got up B) didn’t get up
C) wouldn’t getup D hadn’t got up

21.Think of ONE word which can be used
appropriately in all three sentences.

1. The birds build their nests in early
September and begin to their
eggs two weeks later, always being on
the lookout for predators.

2. The press speculated whether the new
telecommunications company was
going to cables on the seabed
to improve the existing system.

3. One of my responsibilities at home is
to the table in the evening.

Answer is :
Correct answer is:

22.Unscramble the words to make the
name of an extreme recreational activity.

GRNATFI

Answer is :
Correct answer is:

23.Complete the sentence with the correct
form of the word in brackets.
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He (talk) to her if he
had seen her at the party yesterday.

Answer is :
Correct answer is:

24.Use the word given in capitals to form
A WORD that fits in the gap.

OPERATE

The procedure is to dial the emergency
number (the call is free), to tell the

which service is needed and
to give the address or location where help
IS needed.

Answer is :
Correct answer is:

25.Complete the sentence with the correct
form of the word in brackets.

Martin’s always very kind but today
he (be) mean to
everybody.

Answer is :
Correct answer is:
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